Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Note: 1. Answer any FOUR full questtons from QNo 1t Q No.7.
2. Question No. 8 is° compulsory
3. Useof standat;d*v «grmal tables, t—dtstrtbuubn, crmcal values of
1

~ distribution.

more stable in Valy
Price of share A \,; X [ 55
r 108
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s (10 Marks)
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Distinguish between Correlatlon and Regress1onw“ (03 Marks)
The helghts of mothers and daughters are given,in the following table. From the tables of

regression estimate the”expected average h“&aght of daughter when:the height of the mother is

64.5 inch. A - ® . N

Height of mother, X inches | 62 |¢ 63 64 | 64 | 65 | 66 68” 70

Height ofdaughf%r Y inches 6% 61|69 |67 m68 171165

(07 Marks)

Overheaa (m 000 Rs)
Cost (in 000 Rs.)

110 120& rgo 140 [ 150 | 160
19 18 | 16 | 18 | 19

(10 Marks)

dénsity function of normal distribution and characteristics of normal
B (03 Marks)
Given the mean | “elght of studen,tsﬁm a class is 158 cm with standard deviation of 20 cm.
Find how many students he1ghtsibh*§xbetween 150 cm and 170 cm if there are 100 students in
the class. ; ," (07 Marks)
In an intelligence test admlmstered to 50() students and data is normally distributed the
average score was 42 and standard deviation was 24. Find:
(i) The number of stu&ents whose score exceeded 50.
(i) The number of students who scored between 30 and 40

(ii1) The numbc;;mof students who scored above 60. (10 Marks)

/rite the probabl)l'\”
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4 a. Explain the uses of time series analys1s (03 Marks)

b. The sales of lathes in the last 3 years is given below. Use “the method of simple averages to
determine seasonal index of each month. s ®

Month | Jan | Feb | Mar | April | May [ June | July | Aug | Sept | Oct | Nov | Dec

2009 | 16 | 17 | 19 19 24 w21 | 29 | 30 | 34 | 34 | 39

2010 |22 |21 | 27 | 26 30 221 | 27 | 31 | 36233 | 43

2011 |28 | 28 | 38 | 39 39 |«33.] 33 | 37 | 41 | 50. .44 | 56
il (07 Marks)
c. If two large populations, there are 30‘%&and 25% respectively of fair haired people. Is the
difference likely to be hidden in* samples of 1200 and 900, respectively from the two
populations? (10 Marks)

5 a. Write the obJectlves of studymg@fme series analysis and vafiations in time series. (03 Marks)
b. A sample of size 10 was takén from a population standé:rd deviation of sample is 0.03. Find
the maximum error W1th@9‘Vé confidence. (07 Marks)
c. The quarterly sales for S”Fyears from 2008-2011 i1s glven below. Use ratio to moving average
method to determlﬁ% §e)asonal indexes: ’
Quarter

2008
/2009 | 85

al 10 91 73 | 67 i% 86
%»«2011 102 80 “*721 - 95

(10 Marks)

=

6 a. If the probability of defec‘tlve bolt is 0.2, findy Mean (i) Staridard deviation for the
distribution of bolts in 4, tetai of400. Assume%{the* distribution be b1nom1a1 distribution.

! (03 Marks)
. Explain the different steps in hypothesis tes‘tmg ek (07 Marks)
c. A survey was corfdn"eted to determine the age (in years) of 12 ;
Age of Auto 45%[0-4|4-8 |8 -VLZ 12-16 6 20 7
Number of Aesuto 13 | 29 | 48.] 22 ‘
Find the% %I}/Iedlan age, Modal agé ang Mean age. (10 Marks)
7 a. Wntewthes types of measures’ & dispersmn ; (03 Marks)
b. The average breaking strength’ of steel rods 1s spe01ﬁed to be 18.5 thousand pounds. To test
thls sample of 14 rods wene tested. The rneah and standard deviations obtained were 17.85
% """"" and 1.955 respectively: Is the result of expeﬁment significant? (07 Marks)
“Calculate Spearm“gﬁ’ “rank correlatlon coefficient between demand and sales from the
following data and interpret your resu],}:
Demand X | 68.| 64 | 75 | 50 |64.1:80 | 75 | 40 | 55 | 64
SalesY © 762 | 58| 68 | 45 gl 60 | 68 | 48 | 50 | 70
(10 Marks)
8 Company’s trainees are rand()fnly divided into 3 groups of 10 each and are given a course in

management skills by 3° dlfferent methods. At the end of the training period, they are given a
test and their scores are as follows:

Method A [ 99 |64 | 101 | 85 |79 8897 | 95 |90 | 100
Method B | 83-[ 102 | 125 | 61 |91 19694 | 89 |93 | 75
Method C | 894798 | 56 | 105 |87 90|87 | 101 | 76 | 89
Use Kruskal-Walh s test (K-W test) to determine at 5% level of significance if the three
methods am equally effective. (20 Marks)
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